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98. For a life age 30, it is estimated that an impact of a medical breakthrough will be an increase 
of 4 years in e 30 , the complete expectation of life. 

 

Prior to the medical breakthrough, 0 ( ) 1 , 0 100
100

t
S t t    . 

After the medical breakthrough, 0 ( ) 1 , 0
t

S t t 


    . 

Calculate  . 
 
 
(A) 104 
 
(B) 105 
 
(C) 106 
 
(D) 107 
 
(E) 108 
 
 

99. On January 1, 2002, Pat, age 40, purchases a 5-payment, 10-year term insurance of 100,000: 
 
(i) Death benefits are payable at the moment of death. 

 
(ii) Gross premiums of 4000 are payable annually at the beginning of each year for 5 

years. 
 

(iii) i = 0.05 
 

(iv) L  is the loss random variable at time of issue. 
 
 
Calculate the value of L  if Pat dies on June 30, 2004. 
 
 
(A) 77,100 

 
(B) 80,700 

 
(C) 82,700 

 
(D) 85,900 

 
(E) 88,000 


